HAMSE Y oldets

1) ¥¥™ : RDR_CMP_{HSR | PPI|CPP |CMX}_PUB_d U Y Al &-bin.gz
- HSR : HSR, PPI : PPI, CPP : CAPPI(1.5km), CMX : CMAX

2) AsT=x
AlZE A E 58
27 liAE 500m
AR 2305 x 2881
Fofd Lambert conformal conic projection
N JE=REE N 38.0°, E 126.0°
J|E=AXA 1121, 1681
sl o 1024 bytes
2=
HFALE 2bytes(short int.)x2305x2881
et S 13,282,434bytes
OTEPAL ZEAIE Ik F2gE - - 20000
OZEYL ulBHP A NULLZ : -25000
S OZZurd 8 NULLE © -30000
oOwud™=
—-8FAFE(dBZ) ¢ 2k x 100
- 2% ofefolM 228 92
— 1 —_

3) dle 7=

‘ ® RDR_CMP_HEAD(64 bytes) + @ RDR_CMP_STN_LIST(20 bytes) X 48 = 1024bytes

(D RDR_CMP_HEAD(®4 bytes)

F=E Yoy 37|(bytes) Ag

char  version 1 ZolltH™
short  ptype 2 A AProduct
struct TIME_SS tm 7 2lo|f BHESA|Zt
struct TIME_SS tm_in 7 st RZ MMAZ
char  num_stn 1 shMof|l AlgE 2ol XE
char map_code 1 XE™ME ZE*
char  map_etc 1 7|Ef X2 MEIE=(0f4H])

struct short  nx 2 X& AXE s

RDR_CMP_HEAD short ny 2 Y& AXES
short nz 2 7% ARy
short  dxy 2 AR ZEe] F=HAHE(m)
short dz 2 X7l A 72l(m) (nz=10|™ dz=0)
short z_min 2 nz > 191 22 XMIEZHmM) (hz <= 10|84 0)

ey g 17 Xizezcz e, MEE

char  num_data 1 Xz gein
char  data_code[16] 16 MTE XAEY EMN I
char  etc[15] 15 ol d]

* ptype: O(PPI0), 1(CAPPI), 2(CMAX), 3(ETOP), 4EBASE), 5(HSR), 6(HC), 7(VIL), 8WIND), I(LNG), 10(PCP), 15(NUM)
* map_code: 1(§&® : LCC, 7| &=9F T : 38N, 126E, 7| &= ZHAI : ztof| M 1121, oA 1681 M)
20EHH 1 LCC, 7|=HT : 38N, 126, 7|= AXH : =tof| M 801, oA 10014 5)

« data_code: 1(013), 2(1%), 3XHE=AM),
15(3kmol 5t Dol chato] &M Al

(2) RDR_CMP_STN_LIST(20 bytes)

ARz, FHIMEEXZS), 52T, 6(FTaH),

L™gL o4 o =TIt EX|E 3=)

T=Y = 37| (bytes) My
struct char  stn_cdl6] 6 2ol x|x?4 Zc
struct TIME_SS tm 7 glo|rf ZHEA|ZE
RDR_CMP_STN_LIST struct TIME_SS tm_in 7 glojr] Xt=2 AMAAIZt
* TIME_SS(7 bytes)
=Y W 37| (bytes) Al
short  YY 2 [E]
char MM 1 |
struct char DD 1 =]
TIME_SS char  HH 1 Al
char Ml 1 =
char SS 1 S




4) A=Y H(1152km * 1440km)

560km

/.

840km




